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Written Question #2: The picture shows the trajectory of an ion, initially moving upwards,
entering a region of space where there is a uniform magnetic field pointing out of the
page. If the initial speed of each ion is the same, sketch a possible trajectory for each of
the ions given in the table. Your trajectories do not need to be perfectly to scale, but
B> o ¥ ooy LaabndLe of
they should have correct directions el fill most of the available space. ‘Explain how
you determined your answer. Hints: The notation used is the typical chemistry one.

C* is a carbon atom which has lost one electron, C~ has gained one extra electron,
and so forth.

Ton Ion
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